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• Our example makes a dressing gown that will fit most people. 	       	
   You can make slightly smaller or larger versions.

• Our standard pattern is based on 12cm squares

• The squares can be knitted or crocheted

• Our samples were made in double knitting on a 4mm needle 	   	
   or crochet hook. Do not use a yarn thicker than double knitting,      	
   in case the garment gets too heavy.
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Knit or crochet a belt 6cm wide by 180-200 cm long.

belt loops



		  Collar

B D

			   Front Left			     Front Right

*Note - there is an extra     	        	
  square on the front to allow  		
  for over lap

These squares fold back 
to form the collar
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3 squares
(36 cm)

Seams
You may decide to make the seams a decorative 
feature by using a contrasting colour, or you may 
decide to sew up using the same colour.

Joining
Making up the body:
Join seams A + B together and C + D together
Making up the sleeves:
Join seams E + F together and G + H together.

Edging
You can add a crochet border (double or treble 
crochet) around all the edges - neck, front opening, 
hem, cuffs.

Details
You can add a pocket and a belt if you wish.
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To make a shorter smoking jacket work 3 squares (36 cm)
from hem to arm hole not 6.

Smoking Jacket
version 2 (shorter length)

3 squares
(36 cm)
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